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PHYSICS (New Course) (Vir' ) 014 (Ufi) a8 53
Paper :| (Essay Type) (_;;/;u;g ) Golaulaa) 1 - ey
Time Allowed : 2.45 hours 45 - =,
Maximum Marks : 63 63 /t‘;J’/

{ BARP-T ¥ .2
10 2. Write short answers to any FIVE (5) questions : ¥ =2 /:’ L =iy (5) ég = (jf -2
(i) Define Physics. LSS W
(i) Estimate your age in seconds. ~E LU LA (i)

(iii) Differentiate between the speed and velocity. -ﬁ;{-lg;}}uf@!m@; (HT)

(iv) How can vector quantities be represented graphically? % Cﬁigg-’}tﬁqﬁu@‘/'?umﬁ}f: (iv)

(v) Differentiate between linear and random motion. -éugd}ufuﬁf,'few'cfr/’f’d (™
(vi) Define Law of Inertia. LUK (vi)

(vii) Define momentum and write the formula. ,&%n@mé_yﬂfﬁ? $40)

(viii) Define the centrifugal force. Sl Ve SRS (il

12 3. Write short answers to any SIX (6) questions : . 2 A4 /"? L =y (6) & éf -3
(i) Define perpendicular components. , -ébé’/jtfu’%{dﬁf (i)
(i) Inarightangled  _zZeGLUfs e 3 om JLArbia om GG ubl b iisies” (i)
triangle length of base is 4 cm and its perpendicular is 3 cm. Find its hypotenuse.
(iii) Define centre of gravity. _2’.3/.@/70(&{/: Ti‘: (rif)
(iv) Define law of gravitation. Z&@}’Wi@éﬂd{’f ()

(V) What is the gravitational field strength near the ?93nff :szu(ilg},wdgf; /nf_i/&;ﬁj (%)
surface of the earth?

(vi) What is the unit of work, define itz Sy S e e L (e
(vii) Define kinétic energy also write its 2~uiation. Ve‘i/fc,uw»a{_gﬁf&ﬂu@ég ()
(viii) Define efficiency. “E A wii
(ix) What is Si unit of Power? Define it. ﬁg/.,yﬂf! e Uy S 6l (8

10 4. Write short answers to any FIVE (5) questions : . ¥ =2 /‘"f L =iy (5) é& = &/ -4

(i) The mass of 200 cim® of stone is ..é’(’!b"&%f(ff L& 500 g ULEAL 3200 em’® (1 @
500 g, find its density.

(i) Write some important features of kinetic : &Uayﬁ}uwﬁgg@ﬂ/’ggu@d{.ﬁgzt (ii)
molecular model of matter.

(iii). Defing internat-enerss &y A5G i

(iv) Define heat and temperature. ' _"é’.,y/jd%/fm.;ﬂ} fiv)

o B P o > 5 b e -
(V) What will be temperature on kelvin scale __ 20 °C Z%QJ:CJJ’E:P Wl s (v)

-

A 0 ,
of temperature when it is 20°C on celsius scale?

(vi) Define specific heat. &y APz (i)
(vi) Write the names of methods of transfer of heat. -E(CLU;@}’Lazlfdti‘! )
(viii) Why is not advisable to wear dark e beUtaiusle & 5 B AU (il
colours in summer?
(i‘JJ,‘)




2)
( PART-II r» o)
Note : Attempt any THREE questions. -a?;,gwiommfcéf s adid

4 5.(a) How Galileo proved that ?‘ag}mﬁygc‘fu@}i)’giﬁrwé_ni_/iwTfif&.t‘&j&. fzg M) -5
the acceleration of free falling bodies is the same?

3 210.0 g (i) 0.00580 km (i) : éaﬁjv@‘wﬂéﬁvm@mﬁf Gl
(b) Find the number of significant figures and write it in scientific notation : (i) 0.00580 km (i) 210.0 g
4 8. (a) How can you find _éyu;flc,,j“ S bl Ul (9 S AL P T (D) 6

centre of gravity of irregular shaped body? Explain it with experiment.

3 (b) Howmuch time, S o= il 20N L L3 Sied f 22 NS AL S (L)
is required to change 22 NS momentum by a force of 20 N?

4 7.(a) What are artificial satellites? -é()’“:{r;d/u*f/?dﬂ b i s SVUE e O) _7
Also find its speed at height 'h’ revolving around the earth. ,
3 “ErPuldtoe i 5 emyt10 s 3L 200kg g fi (L)

(b) Calculate the power of a pump which can lift 200 kg of water through a height
of 8m in 10 seconds.

4 8. (a) Explain the working of Hydraulic Press. ,zfyu;qu/?Kiui{J,/i’; ®) _8
,épl’”uftgw:ﬁ/uf;/ﬁfg 8m x Sm x 4m «e- 1.3k m™ 558w L)

(b) The density of airis1.3k¢m™ . Find the mass of air in a room measuring 8m x Sn x 4m

4 9. (a) Explain thermal expansion of liquids. ' eyt L e ) g
] s o o 7z K 5 7 b i
-<-35 Clfdsmim 15 cf,ﬁdm(ﬁ:ﬂ- 201’/12L{'[é!g;df/gb-{u%’d‘w“v"//‘fu“25(;/)
3 ~e 0.6Wm Kk DSk L Be _E by ;J;Wi,w;w,a_u;,,@;

(b) The exterior brick wall of a house of thickness 25 cm has an area 20m° . The temperature inside

the house is 15 aC and outside is 35 C. Find the rate at which thermal energy will be conducted

through the wall. The value of k for bricksis 0.6 W m™ K="

( PART-III A2 )
( Practical Part ) ‘ ( &2
Note : Attempt any TWO questions. - .:,QIXZ.:/UM:C.(}:( D ks
L(uu//éu;’g/f {_/J-Efy? 0.84 cm ﬂgii&ﬁ%@;g&k’m‘__u&f sV 327 234 0.02 cm _A
5 SN ST S 1 e 3 E

A. Apply zero correction on a cylinder of diameter 0.84 cm measured by a vernier callipers

having positive zero error 0,02 cm. Find corrected diameter and also find the area of cross
section of the cylinder.

w(ﬁiﬁuifwl{_}fo& .L’L;d.t{’./:{u%){fdjT/)l(}lﬁ!dd[éi,,bfd& G Ui B
25 b‘/g “w'
: iniedEn T S AE2400
B. Find the value of 'g' by free fall method when the distance between £ and final position is 0.8 m

and average time for 15 vibration is 24 seconds.

- g P " b.(, P = > (! b
S C. The data is given in the table : Z.:((}h";»jb;lg( 'g /@um-;.u:u%;gyawﬁ bof &l C
measured during vibration of simple pendulum. Find average value of 'g' by using formula :

() dddpienl| 85 | 80
Length of simple pendulum (cm)

(Sec.) 7462064t 324 | 358
Time for 20 vibrations ( Sec. )
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